
Hints on MML HW 1204 GeoGebra Question: %2
>Find vectors is and v so that x=w

the vector in varies, let's say in your variant, wo
=(2,4,67.

This question is generating requests for hints so let's give
the whole class a hint.

Recall these notes from class: OAB
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We also learned in class thatif A =LXA, YA, EA) and B =<XB, YB,2B)
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Now back to our example: 2/2

Find vectors a
andI so that axI=to where w= (2,4,67.

planet. 1w =

12,4,h)

Let

W i =<u,,42,43) and
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x,,v2,v3) O
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LetP be the plane 1 tow and thru thewin10,0,0).
Fix the tails of it, to to be theorigin,
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then it is on the line containing w-

SO xv
=ki for some scalark
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SO x =wo

Recall 4x=to
dowe want. or? do we wantor?

From previous page, we know: H

(1) (4xE) 1 I know w1i E) [2, 4,6) i <n,, 42, 43) =k*
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2 xat to knowitwater a46
<0,2,3

() (2,4,b) =(1,2,2)

Now, (K-13) will give a system of equations, which will have
many solutions (look atpiture

to see this).

To start, find an "easy" issatisfying (I), i.e. 1t.
One such "easy" is has the form (1, 2, 0).
Then, using this "easy" i, find I so that(2) and (3) hold.

I (i.e. findv, V2,V3)


